


Definitions	
  
Linear	
  Algebra	
  provides	
  techniques	
  and	
  notations	
  to	
  express	
  a	
  
set	
  of	
  equations	
  in	
  a	
  compact	
  form	
  and	
  operate	
  on	
  them.	
  
Consider	
  the	
  following	
  two	
  equations	
  with	
  two	
  variables:	
  

4x1	
  –	
  5x2	
  =	
  -­‐13	
  

-­‐2x1	
  +3x2	
  =	
  9	
  

This	
  can	
  be	
  written	
  in	
  matrix	
  form	
  as	
  

	
  Ax	
  =	
  b	
  

	
  

Where	
  A	
  and	
  b	
  are	
  matrixes	
  of	
  the	
  form	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  
	
  
There	
  are	
  many	
  advantages	
  in	
  expressing	
  equations	
  in	
  this	
  form.	
  	
  



Notations	
  





Matrix	
  Algebra	
  



Matrix	
  Multiplication	
  



Vector-­‐Vector	
  Product	
  



Vector	
  and	
  Matrix	
  
Multiplication	
  



Matrix-­‐Vector	
  Product	
  



Matrix-­‐Matrix	
  Product	
  



Basic	
  Properties	
  



Matrix	
  Transpose	
  



Matrix	
  Trace	
  



Definition:	
  Linearly	
  Independent	
  Vectors	
  and	
  Matrices	
  



Definition:	
  Rank	
  of	
  a	
  Matrix	
  



Norms	
  of	
  a	
  Matrix	
  



Inverse	
  of	
  a	
  Matrix	
  



Orthogonal	
  Matrices	
  



Determinants	
  





Eigenvalues	
  and	
  Eigenvectors	
  





Applications	
  of	
  Eigenvector	
  and	
  Eigenvalue	
  	
  

Consider	
  the	
  following	
  matrix	
  equation:	
  

	
  

	
  

In	
  the	
  example	
  on	
  the	
  left,	
  the	
  resulting	
  vector	
  is	
  not	
  an	
  integer	
  
multiplication	
  of	
  the	
  original	
  vector	
  whereas	
  in	
  the	
  example	
  in	
  the	
  right,	
  
it	
  is	
  exactly	
  4	
  times	
  the	
  original	
  vector.	
  The	
  vector	
  here	
  is	
  a	
  vector	
  in	
  2-­‐
dimensional	
  space.	
  The	
  vector	
  32	
  represents	
  an	
  arrow	
  from	
  the	
  origin	
  
(0,0)	
  to	
  the	
  point	
  (3,2)	
  on	
  the	
  (X,Y)	
  plane.	
  The	
  square	
  matrix	
  is	
  a	
  
transformation	
  matrix.	
  By	
  multiplying	
  this	
  on	
  the	
  left	
  of	
  a	
  vector,	
  the	
  
result	
  is	
  another	
  vector	
  that	
  is	
  transformed	
  from	
  its	
  original	
  position.	
  
Eigenvectors	
  arise	
  from	
  such	
  transitions.	
  

A	
  transformation	
  matrix	
  that	
  is	
  multiplied	
  by	
  a	
  vector,	
  reflects	
  vectors	
  
on	
  the	
  line	
  Y	
  =	
  X.	
  If	
  there	
  is	
  a	
  vector	
  that	
  lies	
  on	
  the	
  line	
  Y=X,	
  that	
  (and	
  all	
  
multiples	
  of	
  it)	
  would	
  be	
  eigenvectors	
  of	
  that	
  transformation	
  matrix.	
  	
  

	
  



Properties	
  of	
  Eigenvectors	
  
	
  	
  
Eigenvectors	
  can	
  only	
  be	
  found	
  for	
  square	
  matrices	
  and	
  not	
  every	
  square	
  
matrix	
  has	
  eigenvector.	
  For	
  an	
  n	
  x	
  n	
  matrix,	
  there	
  are	
  n	
  eigenvectors.	
  
Therefore	
  a	
  3	
  x	
  3	
  matrix	
  has	
  3	
  eigenvectors.	
  Also,	
  all	
  the	
  eigenvectors	
  of	
  a	
  
matrix	
  are	
  perpendicular-­‐	
  at	
  right	
  angle	
  to	
  each	
  other.	
  This	
  means	
  that	
  one	
  
could	
  express	
  the	
  data	
  in	
  terms	
  of	
  these	
  orthogonal	
  eigenvectors	
  instead	
  of	
  
expressing	
  them	
  in	
  terms	
  of	
  X	
  and	
  Y	
  axes.	
  For	
  matrices	
  with	
  size	
  larger	
  than	
  3	
  x	
  
3,	
  finding	
  eigenvectors	
  becomes	
  complicated.	
  
	
  
Properties	
  of	
  Eigenvalues	
  
	
  	
  
Eigenvalues	
  are	
  associated	
  with	
  eigenvectors.	
  In	
  the	
  above	
  example,	
  “4”	
  is	
  the	
  
eigenvalue	
  of	
  the	
  square	
  matrix	
  on	
  the	
  left.	
  No	
  matter	
  what	
  multiple	
  of	
  the	
  
eigenvector	
  we	
  took	
  before	
  multiplying	
  it	
  with	
  the	
  square	
  matrix,	
  we	
  would	
  
always	
  get	
  4	
  times	
  the	
  scaled	
  vector	
  as	
  our	
  result.	
  
	
  
	
  
	
  
	
  



How	
  to	
  determine	
  Eigenvalues	
  and	
  Eigenvectors	
  
For	
  a	
  square	
  matrix	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  l	
  ,	
  λ	
  	
  λ	
  is	
  an	
  eigenvalue	
  of	
  A	
  and	
  x	
  is	
  the	
  
corresponding	
  eigenvector	
  if	
  

Ax	
  =	
  λx	
  	
  	
  x	
  ≠	
  0	
  

This	
  means	
  that	
  multiplying	
  A	
  by	
  the	
  vector	
  x	
  results	
  in	
  a	
  new	
  vector	
  
that	
  points	
  in	
  the	
  same	
  direction	
  as	
  x,	
  but	
  scaled	
  by	
  a	
  factor	
  λ. Also,	
  for	
  
any	
  eigenvector	
  x,	
  and	
  scalar	
  t,	
  	
  

A(cx)	
  =	
  c(Ax)	
  =	
  c	
  (λx)=	
  λ	
  (cx).	
  Therefore,	
  cx	
  is	
  also	
  an	
  eigenvector.	
  
Because	
  of	
  this,	
  we	
  assume	
  that	
  eigenvector	
  is	
  normalized	
  to	
  have	
  
length	
  1.	
  The	
  above	
  equation	
  can	
  be	
  written	
  in	
  the	
  form	
  that	
  (l,x)	
  are	
  
eigenvalue	
  and	
  eigenvector	
  of	
  A:	
  (λI	
  –	
  A)x	
  =	
  0	
  	
  	
  x	
  ≠	
  0.	
  

(λI	
  –	
  A)x	
  =	
  0	
  has	
  a	
  non-­‐zero	
  solution	
  to	
  x	
  only	
  if	
  (λI	
  –	
  A)	
  has	
  a	
  non-­‐
empty	
  null	
  space.	
  This	
  is	
  only	
  the	
  case	
  if	
  (λI	
  –	
  A)	
  is	
  singular	
  (its	
  
determinant	
  being	
  zero):	
  |(λI	
  –	
  A)|	
  =	
  0	
  

(a	
  singular	
  matrix	
  does	
  not	
  have	
  a	
  matrix	
  inverse.	
  A	
  matrix	
  is	
  singular	
  
only	
  if	
  its	
  determinant	
  is	
  zero).	
  

	
  

	
  

L	
  	
  



We	
  expand	
  this	
  determinant	
  into	
  a	
  polynomial	
  in	
  λ	
  where λ 
will	
  have	
  maximum	
  	
  degree	
  n.	
  We	
  then	
  find	
  the	
  n	
  roots	
  of λ 
to	
  find	
  n	
  eigenvalues-­‐	
  λ1 λ2 λ3…λn.	
  To	
  find	
  eigenvectors	
  
corresponding	
  to	
  eigenvalues	
  l,	
  we	
  solve	
  the	
  linear	
  
equation	
  	
  
(λi	
  I	
  	
  -­‐	
  A)x	
  =	
  0.	
  
	
  



Some	
  Rules	
  
s  The	
  trace	
  of	
  A	
  is	
  equal	
  to	
  the	
  sum	
  of	
  its	
  eigenvalues	
  

	
  

	
  

s  The	
  determinant	
  of	
  A	
  is	
  equal	
  to	
  the	
  product	
  of	
  its	
  eigenvalues	
  

	
  	
  	
  	
  	
  	
  	
  

	
  

s  The	
  rank	
  of	
  A	
  is	
  equal	
  to	
  the	
  number	
  of	
  non-­‐zero	
  eigenvalues	
  of	
  A	
  

s  The	
  eigenvalues	
  of	
  a	
  diagonal	
  matrix	
  D	
  =	
  diag(d1,…,dn)	
  are	
  just	
  the	
  diagonal	
  
entries	
  d1,	
  …,	
  dn	
  

s  If	
  the	
  eigenvectors	
  of	
  A	
  are	
  linearly	
  independent,	
  then	
  the	
  matrix	
  X	
  will	
  be	
  
invertible:	
  A	
  =	
  X	
  Λ	
  X	
  -­‐1	
  .	
  A	
  matrix	
  that	
  can	
  be	
  written	
  in	
  this	
  form	
  is	
  
diagnalizable.	
  

	
  



A	
  Review	
  of	
  Matrix	
  Calculus	
  







The	
  Hessian	
  Matrix	
  



Further	
  Reading	
  

Most of  the material in this course is taken from Zico Kolter and Chuong Du 
Lecture notes on Linear Algebra – September 2015. 

 

Any introductory book in linear algebra contains tha material covered in this 
lecture. 


